INTERMEDIATE LESSON 1 Quiz

Transfers

NZBr?dge

1. Your partner opens 1NT. What are your responses ?

(a) (b) (c) (d)
A J10652 A 94 A J97 A KQ7642
v Q8 v AQ1062 v Q72 v A87
¢ 965 ¢+ KQJ3 +8 ¢ J62
% J109 & A2 & KJ10932 ®5

2. What is your next bid with the following hands?

(a) (b) (c) (d)
A J10652 A 94 A J97 A KQ7642
v Q8 v AQ1062 v Q72 v A87
¢ 965 ¢ KQJ3 ¢+ 8 ¢ J62
% J109 ®» A2 & KJ10932 * 5
INT — 2% INT -2 INT — 2NT INT - 2w
24 - 7 2v = ? 3% - ? 26 — 7

3. Complete the bidding for the following hands:

(a) (b)

West East West East West
A QJ106 A A4 A A3 A 754 A K76
v AQS8 v KJ1062 v K106 v A9752 v KJ108
¢+ KQ5 ¢ AJ32 ¢ AJ109 ¢ KQ4 ¢ 952
& 1093 ®» 72 &% 9852 ®» Q7 ® AQJ
INT INT INT

(e)
A 973
v KJ1087
¢ 52
% AQJ

(e)
A 973
v KJ1087
¢ 52
% AQJ

INT —2e
29 = 7

(c)
East
A Q109
v Q96
¢ AJ10
& K973
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(e)
A 973
v KJ1087
¢ 52
% AQJ

(e)
A 973
v KJ1087
¢ 52
& AQJ

INT —2e
29 = 7

Invitational
exactly 5 v

(c)
East
A Q109
v Q96
¢ AJ10
% K973

ANSWERS
1. Your partner opens 1INT. What are your responses ?
(a) (b) (c) (d)
A J10652 A 94 A J97 A KQ7642
v Q8 v AQ1062 v Q72 v A87
¢ 965 ¢+ KQJ3 +8 ¢ J62
% J109 & A2 & KJ10932 ®5
________ 2y 2 2NT 2y
2. What is your next bid with the following hands?
(a) (b) (c) (d)
A J10652 A 94 A J97 A KQ7642
v Q8 v AQ1062 v Q72 v A87
¢ 965 ¢ KQJ3 ¢ 8 ¢ J62
% J109 ® A2 &% KJ10932 % 5
INT — 2% INT -2 INT — 2NT INT - 2w
24 - 7 2v = ? 3% - ? 26 — 7
PASS 3¢ ~_PASS 3a
Game force o
Too weak to : Too weak Invitational
: showing .
bid on to bid on 6 4
S5vide
3. Complete the bidding for the following hands:
(a) (b)
West East West East West
A QJ106 A A4 A A3 A 754 A K76
v AQS8 v KJ1062 v K106 v A9752 v KJ108
¢ KQ5 ¢ AJ32 ¢ AJ109 ¢+ KQ4 ¢ 952
& 1093 ®» 72 & 9852 ® Q7 ® AQJ
INT _2¢ INT 2¢ INT
2v 3e 2v 2NT 3NT
4e 3v
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